

Change Order

Today'	's Date:	8/11/2021							View3_SignatureRouting
Project	t Title:	Judge Doyle	e Podium						
Project	t Number:	13115	Contrac	t Numb	<i>per:</i> 8290		Aldermanic D	istrict:	4
Submit	tted By:	Schuchard	t, Michael						
Current	t Routing Locatio	n:	BPW Proces	sing					
Chang	e Order No:	CO-15	CO Proje	ect No:	8290	Туре	Facilities		
Contra	ıctor:	JP CULLE	N & SONS INC						
		330 E DE	LAVAN DR						
		JANESVIL	LE		WI	5354	16		
You are	e authorized and di	rected to mak	for vehic control Cor-101 labor ho	cle clea rooms o add co ours for	protection layout at rance. Cor-99 exten on L3 & L4. Cor-100 ndensate drains at I Nami elevator shaft	d traffi Install heat pu t preins	c coating at Nor drip pan and dr umps to avoid ic spection and lay	th and Sain on he	outh elevator eat pump on level 3.
Item No.	Descripti	on/Account N	umber	Est. Qty.	Unit Type		Unit Price	*N/B	Total
1	Cor-94 LL3 at Delevators build out to first colu	up corner an		1.00	Each		\$10,558.04	N	\$10,558.04
	Acct. No.	Share %	Share Total						
	11471-82-140	100.0	\$10,558.04						
2	Cor-96 add seco	=	for Sprinkler	1.00	Each		\$38,959.03	N	\$38,959.03
	Acct. No.	Share %	Share Total						
	11471-82-140	100.0	\$38,959.03						

ltem	Description/Account Number	Est.	Unit Type	Unit Price	*N/B	Total
No.		Qty.				
3	Cor-97 Car #4 elevator repairs damage by water	1.00	Each	\$23,377.98	N	\$23,377.9
	Acct. No. Share Share Total %	<u>-</u>				
	11471-82-140 100.0 \$23,377.98	-				
4	Cor-98 change fire protection layout at vestibule U101 from upright to sidewall to allow for vehicle clearance.	1.00	Each	\$10,330.38	N	\$10,330.
	Acct. No. Share Share Total %	-				
	11471-82-140 100.0 \$10,330.38	_				
5	Cor-99 extend traffic coating at North and South elevator control rooms on L3 & L4.	1.00	Each	\$5,317.35	N	\$5,317.
	Acct. No. Share Share Total %	-				
	11471-82-140 100.0 \$5,317.35	-				
6	Cor-100 Install drip pan and drain on heat pump on level 3.	1.00	Each	\$4,267.35	N	\$4,267
	Acct. No. Share Share Total %	-				
	11471-82-140 100.0 \$4,267.35	_				
7	Cor-101 Add condensate drains at ACC heat pump units.	1.00	Each	\$16,158.79		\$16,158
	Acct. No. Share Share Total %	_				
	11471-82-140 100.0 \$16,158.79	_				
8	Cor-102 labor hours related to elevator shaft radiant heater planning.	1.00	Each	\$2,144.50		\$2,144
	Acct. No. Share Share Total %	-				
	11471-82-140 100.0 \$2,144.50	_				
					*N/B	

							=Negotiated =Bid	
				% of Original				
				1.50	1	Net Change Ord	der	\$111,113.42
					Origi	nal Contract To	tal	\$7,398,277.00
				11.03	Prev.	Chg. Orders To	tal	\$815,925.3
				112.53	N	ew Contract To	tal	\$8,325,315.7
					8.00	% Contingen	ncv	\$591,862.16
					0.00	, o contingen		7331,002.10
				Remaining contir	ngency prior to	o this change ord	der	(\$224,063.15
				Remaining cor	ntingency afte	r this change ord	der	(\$335,176.57
This Contract	t is a:	Calendar Days	/S	○ Workin	g Days	○ Con	npletion Dat	ce
	CO Atta	uchments - for Reference O	ONLY	Chan	ge Order T	ype:		
	wersion.p		5 - final		Jnder \$20k Over \$20K	(
	14.28 MB					ngency Amou	ınt	
						0 1	-	
					ime Ext. R	equested		
		<u>Acceptance:</u> ntering the date I hereby		Т		equested		
		=	y give my Title:	Т		equested	Date:	
**By typing m	ny name and e	=		Т		equested	Date: December	03, 2021
By typing m By: Cory Huschki	ny name and e ka <u>Project Mo</u> ny name and e	=	Title: PM y give my Title:	electronic signatu	ıre	equested		
By typing m By: Cory Huschki Inspector/I **By typing m By: Mike Schuch **By typing m	ny name and e Ka I'Project Mc ny name and e nardt	ntering the date I hereby	Title: PM y give my Title: Project y give my	electronic signatu electronic signatu ct Manager	ıre	equested	December Date:	
By typing m By: Cory Huschki **By typing m By: Mike Schuch **By typing m By:	Y name and e Y Project Mo Ny name and e nardt On Manage Ny name and e	ntering the date I hereby anager Approval: ntering the date I hereby er Approval:	Title: PM y give my Title: Project y give my Title:	electronic signatu electronic signatu ct Manager electronic signatu	ıre	equested	Date: December Date:	03, 2021
By typing m By: Cory Huschki Inspector/I **By typing m By: Mike Schuch **By typing m	Y name and e Y Project Mo Ny name and e nardt On Manage Ny name and e	ntering the date I hereby anager Approval: ntering the date I hereby er Approval:	Title: PM y give my Title: Project y give my Title:	electronic signatu electronic signatu ct Manager	ıre	equested	December Date: December	03, 2021
By typing m By: Cory Huschki **By typing m By: Mike Schuch **By typing m By:	ny name and e Teroject Me ny name and e nardt On Manage ny name and e	ntering the date I hereby anager Approval: ntering the date I hereby er Approval: ntering the date I hereby	Title: PM y give my Title: Project y give my Title:	electronic signatu electronic signatu ct Manager electronic signatu	ire	equested	Date: December Date: December	03, 2021
By typing m By: Cory Huschk Inspector/I **By typing m By: Mike Schuch **By typing m By: Bryan Coope Staff Revie	Y name and e Y Project Mo The name and e	ntering the date I hereby anager Approval: ntering the date I hereby er Approval: ntering the date I hereby	Title: PM y give my Title: Project y give my Title:	electronic signatu electronic signatu ct Manager electronic signatu	re re**	equested	Date: December Date: December	03, 2021 06, 2021
By typing m By: Cory Huschki **By typing m By: Mike Schuch **By typing m By: Bryan Coope Staff Revie	Project Manage and elements are elements and elements and elements are elements and elements and elements are elements and elements are elements and elements and elements are elements are elements and elements are	ntering the date I hereby anager Approval: ntering the date I hereby er Approval: ntering the date I hereby	Title: PM y give my Title: Project y give my Title:	electronic signatu electronic signatu ct Manager electronic signatu ipal Architect	ire ire** Initials BLC	equested	Date: December Date: December	03, 2021 06, 2021
By typing m By: Cory Huschki **By typing m By: Mike Schuch **By typing m By: Bryan Coope Staff Revie	Project Monards The project M	ntering the date I hereby anager Approval: ntering the date I hereby er Approval: ntering the date I hereby	Title: PM y give my Title: Project y give my Title:	electronic signatu electronic signatu ct Manager electronic signatu ipal Architect	re re**	equested	Date: December Date: December	03, 2021 06, 2021

Accountant	CDO	December 07, 2021
DDIA/ Admin Dragoging.		
BPW Admin Processing:	to the other	Deste
ogistor Hodotod	Initials	Date
Legistar Updated	HJF	December 07, 2021
BPW Scheduled	HJF	December 15, 2021
BPW Approved		
	<u> </u>	
BPW/City Engineer Approval:		
	eby give my electronic signature**	
BPW/City Engineer Approval: **By typing my name and entering the date I her By:	eby give my electronic signature** Title:	Date:
** By typing my name and entering the date I her		Date:
** By typing my name and entering the date I her		Date:
**By typing my name and entering the date I her By:		Date:
** By typing my name and entering the date I her		Date:
**By typing my name and entering the date I her By:	Title:	